
Custom
Board

Mounted
Valances
&Cornices

INSTALLATION INSTRUCTIONS

Step 1. Check Package Contents 
Missing part? Call 800-933-7115

Mounting hardware kit includes the following:

Part				    Quantity

a. Mounting Brackets (‘L’ brackets)	 2 (up to 36” wide) 
				    3 (up to 64” wide) 
				    4 (up to 92” wide) 
				    5 (up to 120” wide) 
				    6 (up to 148” wide) 
				    7 (up to 180” wide) 

b. 	 11/2” Screws		  2 per bracket

c. 	 3/4” Screws		  2 per bracket 
Note: one extra screw of each noted size is included for convenience

Step 2. Tools required 
Pencil, tape measure, level, drill & bits, 
screw driver, step stool.
Drill Bits: for screws, use a 3/32” drill bit - for wall 
anchors (not included) follow the directions on the 
package.

Step 3. Bracket Location and Installation 
Following the directions below you will be mounting the brackets to the wall first, and then placing the Valance 
or Cornice on top of the brackets in order to attach them to the board. It is desirable to attach the brackets to a 
wall stud or header board if possible.

For Wallboard or Plaster: use anchors specifically designed for hollow walls (not included).

For Concrete, Stone, Brick: use a masonry drill bit and anchors or screws specifically designed for masonry (not 
included).

Bracket Placement:

One bracket should be positioned about  6” from 
each end of the board. For wider shades that 
require up to 7 brackets, these should be spaced 
evenly between the two outermost brackets. 
Precise bracket spacing is not critical (attach 
as many brackets as possible to wall studs, 
regardless of spacing). 

The brackets must be level – use a Spirit Level 
if necessary to assure proper alignment. Mark 
the screw-hole locations for each bracket with a 
pencil. Pre-drill the screw holes using a 3/32” drill 
bit, and then attach the brackets using the 11/2” 
screws.

Attach the brackets and/or other mounting 
hardware for any undertreatments before 
attaching the Valance or Cornice. 

Place the Valance or Cornice on top of the brackets. 
Adjust the board so that it is centered over the 
window opening. Then mark the locations of the 
screw holes using a marker or pen. Before drilling 
the screw holes, make a pin hole in the fabric at the 
marked locations using a thumb tack or nail. Pre-
drill the screw holes using a 3/32” drill bit, and then 
attach the brackets using the 3/4” screws.

Cleaning 
To clean the fabric, use a feather duster or vacuum lightly using the soft brush or upholstery attachment. 

100% Polyester, Cotton/Poly blends and 100% Cotton or 100% Linen can be spot cleaned with warm soapy 
water using mild detergent and a clean sponge. Apply to the soiled area, and then allow it to air dry.

For more extensive cleaning, please locate a professional upholstery cleaning service.

Custom Board Mounted Valances & Cornices



Galerías&
Cornisas
enTablón
aMedida

INSTRUCCIONES DE INSTALACION

Paso 1. Cerciórese del Contenido del Paquete 
Partes no incluidas? Llame al 800-933-7115

El kit de montaje incluye:

Parte				    Cantidad

a. Soportes de Montaje en “L”	 2 (hasta 36” de ancho) 
				    3 (hasta 64” de ancho) 
				    4 (hasta 92” de ancho) 
				    5 (hasta 120” de ancho) 
				    6 (hasta 148” de ancho) 
				    7 (hasta 180” de ancho) 

b. 	 Tornillos de 1½”	 2 por soporte

c. 	 Tornillos de 3/4” 	 2 por soporte 
Nota: Un tornillo extra de cada medida se incluye para su conveniencia.

Paso 2. Herramientas Requeridas 
Lápiz, cinta métrica, nivel, taladro y 
brocas, destornillador, escalera.
Brocas: para tornillos, use una broca de 3/32” – para 
tarugos (no incluidos), siga las indicaciones del paquete.

Paso 3. Ubicación e Instalación de 
Soportes 
Siguiendo las direcciones a continuación usted colocará los soportes a la pared primero, luego ubicará la Galería o 
Cornisa sobre los soportes para así poder fijarlos. Es recomendable que los soportes queden fijos a una columna o 
cabecera si fuera posible. 
Para paredes de yeso: use tarugos especialmente diseñados para paredes huecas (no incluidos).

Para paredes de concreto, ladrillo o piedra: use una broca y tarugos especiales para este tipo de materiales (no 
incluidos).

Ubicación de Soportes: 
Un soporte deberá ubicarse a mas o menos 6” 
del filo de cada tablón. Para cortinas más anchas 
que requieren de hasta 7 soportes estos deberían 
separados equidistantemente entre los dos soportes 
extremos.

No es critico si no quedan exactos (fije tantos 
soportes como sean necesarios a las columnas 
dentro de la pared, sin importar los espacios.

Los soportes deberán estar nivelados – use una 
herramienta nivel si es necesario asegurar el 
alineamiento apropiado. Marque con un lápiz los 
lugares donde irán los orificios para cada soporte. 
Perfore los orificios usando una broca de 3/32” y luego 
fije los soportes usando los tornillos de 1½”.

Coloque los soportes y cualquier otro ensamblaje de 
cortinas que sea necesario antes de fijar la Galería o 
Cornisa. 

Ponga la Galería o Cornisa sobre los soportes, Ajuste 
el tablón de manera que queda centrado sobre la 
abertura de la ventana. Marque los lugares donde irán 
los orificios usando un marcador o bolígrafo. Antes de 
perforar los orificios haga una pequeña hendidura en 
la tela en los lugares marcados, usando una puntilla. 
Perfore los orificios usando una broca de 3/32” y luego 
fije a los soportes usando tornillos de 3/4”.

Limpieza 
Para limpiar la tela, use un plumero o aspire cuidadosamente usando el cepillo blando de la aspiradora. 

Combinaciones de 100% poliéster, poli/algodón y 100% algodón o lino pueden limpiarse con agua tibia y un 
detergente ligero, aplique al área en cuestión y deje secar.

Para una limpieza más exhaustiva, contrate un servicio de limpieza profesional.

Galerías y Cornisas Montadas en Tablón


